

Question	Answer																																								
1	364																																								
2	a) 617 b) 820																																								
3	a) 247 b) 391 c) 274 kg d) 917 e) 521 f) £807																																								
4	Ron has not lined up the columns correctly. 511																																								
5	355																																								
6	<p>multiple possible answers, e.g.:</p> <table border="1" data-bbox="208 903 422 1087"> <thead> <tr> <th></th> <th>H</th> <th>T</th> <th>O</th> </tr> </thead> <tbody> <tr> <td></td> <td>8</td> <td>3</td> <td>7</td> </tr> <tr> <td>+</td> <td></td> <td>2</td> <td>5</td> </tr> <tr> <td></td> <td>8</td> <td>6</td> <td>2</td> </tr> <tr> <td></td> <td></td> <td>1</td> <td></td> </tr> </tbody> </table> <table border="1" data-bbox="454 903 668 1087"> <thead> <tr> <th></th> <th>H</th> <th>T</th> <th>O</th> </tr> </thead> <tbody> <tr> <td></td> <td>7</td> <td>3</td> <td>5</td> </tr> <tr> <td>+</td> <td></td> <td>8</td> <td>2</td> </tr> <tr> <td></td> <td>8</td> <td>1</td> <td>7</td> </tr> <tr> <td></td> <td>1</td> <td></td> <td></td> </tr> </tbody> </table>		H	T	O		8	3	7	+		2	5		8	6	2			1			H	T	O		7	3	5	+		8	2		8	1	7		1		
	H	T	O																																						
	8	3	7																																						
+		2	5																																						
	8	6	2																																						
		1																																							
	H	T	O																																						
	7	3	5																																						
+		8	2																																						
	8	1	7																																						
	1																																								
7	$418 + 67 = 485$																																								
8	a) 282 b) 322																																								